
Q.1 दिए गए कथनों और निष्कर्षों को ध्यानपूर्वक पढ़िए। यह मानते हुए कि कथनों में दी गई जानकारी सत्य है, भले ही
यह सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होती हो, तय कीजिए कि दिए गए निष्कर्षों में से कौन-से निष्‍कर्ष
कथनों का तार्कि क रूप से अनुसरण करते हैं।
कथन:
सभी कु शन रजाइयां हैं।
सभी तकिए रजाइयां हैं।
सभी रजाइयां बेड हैं।
निष्कर्ष:
I. कु छ कु शन बेड हैं।
II. कु छ तकिए बेड हैं।
III. कु छ कु शन तकिए हैं।

Ans 1. के वल निष्कर्ष I और III अनुसरण करते हैं

2. सभी निष्कर्ष अनुसरण करते हैं

3. के वल निष्कर्ष II और III अनुसरण करते हैं

4. के वल निष्कर्ष I और II अनुसरण करते हैं

Q.2 उस विकल्प आकृ ति का चयन करें  जो नीचे दी गई आकृ ति में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी और पैटर्न को
पूरा करे गी।

Ans

1. 

2. 

3. 

4. 
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Q.3 एक निश्चित कू ट भाषा में, 'CAT' को 9 के  रूप में कू टबद्ध किया जाता है और 'MOUSE' को 25 के  रूप में
कू टबद्ध किया जाता है। उसी भाषा में 'TROUBLE' को किस प्रकार कू टबद्ध किया जाएगा?

Ans 1. 14

2. 49

3. 45

4. 36

Q.4

Ans

1. 

2. 

3. 

4. 
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Q.5 उस विकल्‍प/संख्‍या का चयन करें  जो तीसरी संख्‍या से वही संबंध रखती है जो दू सरी संख्‍या पहली संख्‍या से रखती
है।
335 : 216 :: 987 : ?
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 867

2. 888

3. 868

4. 872

Q.6 उस विकल्प का चयन करें , जो तीसरे  शब्द से उसी प्रकार संबंधित है, जैसे दू सरा शब्द पहले शब्द से संबंधित है।
(शब्दों को हिन्दी के  अर्थपूर्ण शब्दों के  रूप में माना जाना चाहिए और ये शब्द, अक्षरों की संख्या/व्यंजनों/स्वरों की
संख्या के  आधार पर एक-दू सरे  से संबंधित नहीं होने चाहिए)
कढ़ाई : धागा :: बुनाई : ________

Ans 1. कपड़ा

2. ऊन

3. हूक

4. सूई

Q.7 दिए गए विकल्पों में से वह संख्या चुनिए जो निम्नलिखित श्रृंखला में प्रश्नवाचक चिह्न (?) को प्रतिस्थापित कर
सके ।

6, 5, 18, 10, 54, 20, ?, 40
Ans 1. 162

2. 170

3. 158

4. 168

Q.8 दिए गए विकल्पों में से उस युग्म का चयन कीजिए जो दिए गए युग्म के  सदृश हो।
3 : 31
2 : 12
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 5 : 128

2. 6 : 220

3. 8 : 315

4. 4 : 65

Q.9 एक निश्चित तर्क  का अनुसरण करते हुए 42, 36 से संबंधित है। उसी तर्क  का अनुसरण करते हुए, 57, 144 से
संबंधित है। उसी तर्क  का उपयोग करते हुए निम्नलिखित में से कौन सी संख्या 81 से संबंधित है?

Ans 1. 45

2. 46

3. 44

4. 56
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Q.10 निम्नलिखित में से कौन-सी संख्या दी गई शृंखला में प्रश्न-चिह्न (?) को प्रतिस्थापित करे गी?
324, 289, 256, 225, ?

Ans 1. 196

2. 169

3. 180

4. 200
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Q.11 उस विकल्प आकृ ति का चयन कीजिए, जो पैटर्न को पूरा करने के  लिए नीचे दी गई आकृ ति में प्रश्न चिह्न (?) को
प्रतिस्थापित करे गी।

Ans

1. 

2. 

3. 

4. 
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Q.12 दिए गए समीकरण को सही करने के  लिए किन दो संख्याओं  (न कि अंकों) को आपस में बदलना चाहिए?
21 × 8 – 18 + (64 ÷ 2) + 32 = 64

Ans 1. 8 और 2

2. 18 और 32

3. 32 और 64

4. 8 और 18

Q.13 निम्नलिखित में से कौन-सी संख्या दी गई शृंखला में प्रश्न-चिह्न (?) का स्थान लेगी?
18, 71, 21, 76, 24, 81, 27, 86, 30, ?

Ans 1. 80

2. 83

3. 91

4. 82

Q.14 रमेश अपने बचपन के  दोस्त के  घर जाना चाहता है। रमेश के  दोस्त ने एक टेक्स्ट मैसेज के  जरिए अपने घर का
रास्‍ता बताया। रमेश को उसके  मित्र के  घर के  रास्‍ते के  बारे  में भेजा गया टेक्स्ट देखें और उसके  अनुसार
निम्नलिखित प्रश्न का उत्तर दीजिए।
“जब आप अपने घर से बाहर निकलते हैं, तो आपका मुख उत्तर की ओर है। दाएं  मुड़ें और 3 km चलें, आपको एक
T -पॉइंट/जंक्शन दिखाई देगा। दाएं  मुड़ें और 2 km चलें। यहाँ चौराहे वाला एक गोल चक्कर आएगा।
गोलचक्कर से बाईं ओर दू सरा मोड़ लें और 1 km चलें। दाएं  मुड़ें और 3 km चलें। दाएं  मुड़ें और 1 km चलें। तुम
खुद को मेरे  घर के  सामने पाओगे।”
रमेश का मुख किस दिशा में है जब वह गोलचक्कर से बाएं  से दू सरा मोड़ लेता है?

Ans 1. दक्षिण

2. पूर्व

3. उत्तर

4. पश्चिम

Q.15 एक निश्चित कू ट भाषा में, 'BROWN' को DTMYP के  रूप में कू टबद्ध किया जाता है और 'PLACE' को
RNYEG के  रूप में कू टबद्ध किया जाता है। उसी भाषा में 'RIGHT' को किस प्रकार कू टबद्ध किया जाएगा?

Ans 1. TKFJV

2. TKEJV

3. TKEJU

4. TKIJV

Q.16 05 दिसंबर, 2045 को सप्ताह का कौन-सा दिन होगा?

Ans 1. रविवार

2. सोमवार

3. शनिवार

4. मंगलवार

Q.17 निम्नलिखित चार अक्षर-समूहों में से तीन किसी निश्चित शैली में समान है और एक असंगत है। उस असंगत का
चयन कीजिए।
(नोट : असंगत अक्षर-समूह, शब्द में स्वरों या व्यंजनों की संख्या पर आधारित नहीं है।)

Ans 1. GHDV

2. STPJ

3. LMIQ

4. NOPQ
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Q.18 दिए गए विकल्पों में से उस त्रयी का चयन कीजिए जो दी गई त्रयी के  सदृश हो।
251 – 332 – 422

Ans 1. 432 – 523 – 712  

2. 125 – 223 – 342  

3.  144 – 225 – 729

4. 161 – 512 – 710  

Q.19 निम्नलिखित में से कौन-सा अक्षर-समूह दी गई श्रृंखला को तार्कि क रूप से पूर्ण करने के  लिए प्रश्न चिह्न (?) के
स्‍थान पर आएगा?

HUD, LXE, PAF, TDG, ?
Ans 1. AGH 

2. AGG

3. AGI

4. XGH

Q.20 एक कागज को मोडने का क्रम और मोड़े गए कागज को काटने का तरीका नीचे दिखाया गया है। दिए गए विकल्पों
में से उस आकृ ति का चयन करें  जो कागज के  खुले हुए रूप से सबसे अधिक मिलती-जुलती हो?

Ans

1. 

2. 

3. 

4. 
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Q.21 दी गई आकृ ति में कितने त्रिभुज हैं?

Ans 1. 4

2. 5

3. 6

4. 7

Q.22 Q, P से विवाहित है। M, K का पति है। R, Q का भाई है। T, K की पुत्री है। P, M का पिता है। Q, T से किस
प्रकार संबंधित है?

Ans 1. पोती

2. पोता

3. दादी

4. नाना

Q.23 छः विद्यार्थी (रितु, विनायक, अर्नब, माया, फातिमा और अंकु र) एक गोल मेज के  परित: उसके  कें द्र की ओर
अभिमुख होकर बैठे  हैं (लेकिन इसी क्रम में जरूरी नहीं)। रितु, विनायक और अर्नब दोनों की निकटतम पड़ोसी है।
अर्नब फातिमा के  बाएँ  से दू सरे  स्थान पर बैठा है। फातिमा विनायक के  बाएँ  से दू सरे  स्थान पर बैठी है। विनायक
रितु और माया दोनों का निकटतम पड़ोसी है। फातिमा और अर्नब के  ठीक बीच में कौन बैठा है?

Ans 1. विनायक

2. रितु

3. माया

4. अंकु र

Q.24 उस विकल्प का चयन कीजिये जो निम्नलिखित शब्दों को तार्कि क एवं अर्थपूर्ण क्रम-विन्यास में दर्शाता है।
1- वर्ग
2- षटभुज
3- सप्तभुज
4- त्रिभुज
5- पंचभुज

Ans 1. 4, 1, 5, 2, 3

2. 1, 2, 3, 4, 5

3. 2, 4, 5, 1, 3

4. 3, 1, 2, 4, 5

Q.25 निम्नलिखित में से कौन सा पद दी गई श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आएगा?
CRHT, GQLS, KPPR, ?, SNXP

Ans 1. NQSP

2. NOSQ

3. OQTS

4. OOTQ
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Q.26 एक पासे के  विभिन्न फलकों पर छ: अक्षर P, Q, R, S, T और U लिखे गए हैं। इस पासे की दो स्थितियों को
निम्नलिखित आकृ ति में दर्शाया गया है। S के  विपरीत फलक पर अक्षर ज्ञात कीजिए।

Ans 1. P

2. U

3. R

4. Q

Q.27 निम्नलिखित समीकरण में यदि '+' और '÷' को परस्पर बदल दिया जाए तथा '×' और '−' को परस्पर बदल दिया
जाए, तो प्रश्न-चिह्न (?) के  स्थान पर क्या आएगा?
3 ÷ 4 − 5 × 6 + 2 = ?

Ans 1. 20

2. 18

3. 19

4. 22

Q.28 यदि दो व्‍यंजकों के  बाईं ओर की दो संख्याओं  को परस्पर बदल दिया जाए और दाईं ओर के  दो चिह्नों को परस्पर
बदल दिया जाए, तो उस बराबर चिह्न के  दोनों ओर के  दोनों व्यंजकों का मान समान होगा।
वे दो संख्याएँ  (अंक नहीं) और दो चिह्न क्या हैं?
9 × 1 ÷ 3 + 8 – 7 = 12 ÷ 3 + 2 × 33 – 13

Ans 1. 1 और 9; ÷ और ×

2. 3 और 7; + और ÷

3. 1 और 3; + और ×

4. 3 और 8; + और –

Q.29 नीचे दो कथन और उसके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप
से ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन-सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण
करता/करते है/हैं।
कथन:
सभी बिल्लियाँ जानवर हैं।
सभी जानवर काले हैं।
निष्कर्ष:
I. कु छ काले बिल्लियाँ हैं।
II. सभी बिल्लियाँ काले हैं।

Ans 1. के वल निष्कर्ष II अनुसरण करता है ।

2. न तो निष्कर्ष I और न ही II अनुसरण करता है ।

3. निष्कर्ष I और II दोनों अनुसरण करते हैं ।

4. के वल निष्कर्ष I अनुसरण करता है ।

Q.30 दिए गए विकल्पों में से उस युग्म का चयन कीजिए जो दिए गए युग्म के  सदृश हो।
10 : 101
6 : 37
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 8 : 64

2. 7 : 50

3. 11 : 120

4. 14 : 196
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Q.31 एक निश्चित तर्क  का अनुसरण करते हुए 13, 44 से संबंधित है। उसी तर्क  का अनुसरण करते हुए, 15, 50 से
संबंधित है। समान तर्क  का अनुसरण करते हुए 21 निम्नलिखित में से किससे संबंधित है?
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. 78

2. 58

3. 68

4. 66

Q.32 यदि + का अर्थ − है, − का अर्थ × है, × का अर्थ ÷ है, ÷ का अर्थ + है, तो दिए गए समीकरण में प्रश्न-चिह्न (?) के
स्थान पर क्या आएगा?
70 × 2 – 4 ÷ 60 + 150 = ?

Ans 1. 125

2. 50

3. 100

4. 150

Q.33 दिए गए चार विकल्पों में से तीन विकल्प एक निश्चित तरीके  से समान हैं और इस प्रकार एक समूह बनाते हैं। वह
कौन-सा विकल्प है जो उस समूह से संबंधित नहीं है?
ध्यान दें: असंगत अक्षर-समूह, उस अक्षर-समूह में स्वर या व्यंजनों की संख्या पर आधारित नहीं है।

Ans 1. MJL

2. HEI

3. QNR

4. VSW

Q.34 इस प्रश्न में, दो कथनों के  बाद विकल्प के  रूप में चार निष्कर्ष दिए गए हैं। दिए गए कथनों के  आधार पर निर्धारित
करें  कि कौन सा निष्कर्ष निश्चित रूप से सत्य है।

कथन:
P ≤ Q = R > S
Q ≤ T ≤ U = V

Ans 1. S > P

2. V < S

3. V ≥ P

4. S ≥ U

Q.35 R, S, T, U, V और W एक गोल मेज के  परित: कें द्र की ओर मुख करके  बैठे  हैं (लेकिन इसी क्रम में जरूरी नहीं)।
R, V के  बाएं  से दू सरे  स्थान पर बैठा है। R और S के  बीच के वल एक व्यक्ति बैठा है। S और W के  बीच के वल दो
व्यक्ति बैठे  हैं। T, R का निकटतम पड़ोसी नहीं है। U के  बाएं  से दू सरे  स्थान पर कौन बैठा है?

Ans 1. W

2. S

3. T

4. R

Q.36 निम्नलिखित समीकरण को मान्य बनाने के  लिए परस्पर किन दो संख्याओं  (अंक नहीं) को और परस्पर किन दो
चिह्नों को बदला जाना चाहिए?
55 × 5 ÷ 1 – 3 + 14 = 0

Ans 1. 3, 5 और '+', '÷'

2. 1, 5 और '+', '–'

3. 1, 3 और '–', '÷'

4. 5 ,14 और '– ', '×'
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Q.37 इस प्रश्न में तीन कथनों के  बाद तीन निष्कर्ष I, II और III दिए गए हैं। कथनों को सत्य मानते हुए भले ही वे
सामान्यतः ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्णय लें कि कौन-सा/से निष्कर्ष कथनों का तार्कि क रूप से
अनुसरण करता/करते है/हैं।
कथन:
सभी कु त्ते, भेड़ हैं।
सभी भेड़िये, लोमड़ी हैं।
सभी भेड़, भेड़िये हैं।
निष्कर्ष:
I. सभी भेड़िये, भेड़ हैं।
II. सभी कु त्ते, लोमड़ी हैं।
III. सभी कु त्ते, भेड़िये हैं।

Ans 1. के वल निष्कर्ष I और III अनुसरण करते हैं ।

2. कोई भी निष्कर्ष अनुसरण नहीं करता।

3. के वल निष्कर्ष II और III अनुसरण करते हैं ।

4. के वल निष्कर्ष I और II अनुसरण करते हैं ।

Q.38 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी?
7, 18, 40, 73, 117, ?

Ans 1. 171

2. 170

3. 173

4. 172

Q.39 उस समुच्चय का चयन कीजिए जिसमें संख्याएँ  आपस में उसी प्रकार संबंधित हैं जिस प्रकार निम्नलिखित समुच्चय
की संख्याएँ  आपस में संबंधित है।
(13, 57, 111)
(11, 49, 95)
(नोट: संख्याओं  को उनके  घटक अंकों में तोड़े बिना संक्रियाएँ  के वल पूर्ण संख्याओं  पर की जानी चाहिए। उदाहरण
के  लिए 13 को लीजिए – 13 पर की जाने वाली संक्रियाएँ , जैसे 13 में जोड़ना / घटाना / गुणा करना इत्यादि
के वल 13 पर की जा सकती हैं। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की
अनुमति नहीं है।)

Ans 1. (9, 41, 79)

2. (8, 37, 73) 

3. (12, 53, 109)

4. (10, 54, 11)

Q.40 दिए गए कथनों और निष्कर्षों को ध्यानपूर्वक पढ़ें। आपको दिए गए कथनों को सत्य मानना है, भले ही वे सर्वज्ञात
तथ्यों से भिन्न प्रतीत होते हों। आपको तय करना है कि दिए गए निष्कर्षों में से कौन सा/से निष्‍कर्ष दिए गए कथनों
का तार्कि क रूप से अनुसरण करता/करते है/हैं।
कथन:
कु छ उपकरण इलेक्ट्रॉनिक्स हैं।
सभी इलेक्ट्रॉनिक्स मोबाइल हैं।
कोई मोबाइल फोन नहीं है।
निष्कर्ष:
(I) : कोई फोन उपकरण नहीं है।
(II) : कम से कम कु छ इलेक्ट्रॉनिक्स फोन हैं।

Ans 1. न तो निष्कर्ष (I) और न ही (II) अनुसरण करता है ।

2. के वल निष्कर्ष (II) अनुसरण करता है ।

3. दोनों निष्कर्ष (I) और (II) अनुसरण करते हैं ।

4. के वल निष्कर्ष (I) अनुसरण करता है ।
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Q.41 निम्नलिखित श्रृंखला को जारी रखने के  लिए प्रश्न चिह्न (?) के  स्थान पर कौन-सी आकृ ति आनी चाहिए?

Ans

1. 

2. 

3. 

4. 

Q.42 नीचे दो कथन और उसके  बाद निष्कर्ष दिए गए हैं। दिए गए कथनों को सत्य मानते हुए, भले ही वे सर्वज्ञात तथ्यों से
भिन्न प्रतीत होते हों, निर्धारित कीजिए कि कौन-सा/से निष्कर्ष कथनों का तर्क संगत रूप से अनुसरण करता/ते है/हैं।
कथन:
कु छ हाथी कु र्सि याँ हैं।
सभी हाथी दरवाजे हैं।
निष्कर्ष:
1. कम से कम कु छ कु र्सि याँ दरवाजे हैं।
2. सभी दरवाजे हाथी नहीं हैं।

Ans 1. के वल निष्कर्ष 1

2. के वल निष्कर्ष 2

3. निष्कर्ष 1 और 2 दोनों

4. न तो निष्कर्ष 1 और न ही निष्कर्ष 2
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Q.43

Ans

1. 

2. 

3. 

4. 

Q.44 दिए गए विकल्पों में से उन संख्याओं  का चयन कीजिए जिन्हें प्रश्न चिह्नों (?) के  स्थान पर समान क्रम में रखे जाने
पर श्रृंखला तार्कि क रूप से पूर्ण हो सकती है।
16, 22,13,19,10,?, 7, ?

Ans 1. 16, 13

2. 17, 14

3. 13, 17

4. 19, 15

Q.45 उस विकल्प का चयन कीजिये जो निम्नलिखित शब्दों को तार्कि क एवं अर्थपूर्ण क्रम-विन्यास में दर्शाता है।
1.यूनाइटेड किं गडम
2.विश्व
3.बकिं घम पैलेस
4.लंदन
5.यूरोप

Ans 1. 4, 1, 5, 3, 2

2. 1, 3, 5, 2, 4

3. 3, 4, 1, 2, 5

4. 3, 4, 1, 5, 2

Q.46 K, L, M, W, X, Y और Z ने एक परीक्षा में अलग-अलग अंक प्राप्त किए। K ने के वल तीन व्यक्तियों से अधिक
अंक प्राप्त किए। Y ने के वल L और M से कम अंक प्राप्त किए। W ने Z से अधिक, लेकिन X से कम अंक प्राप्त
किए। L ने उच्चतम अंक प्राप्त नहीं किए। कितने लोगों ने X से कम अंक प्राप्त किए?

Ans 1. कोई नहीं

2. दो

3. एक

4. चार
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Q.47 विकल्‍पों में से कौन सा अक्षर-समूह प्रश्‍नवाचक चिह्न (?) को प्रतिस्‍थापित करके  दी गई श्रेणी को पूरा करे गा?

ABCD, BCDE, ?, DEFG, EFGH
Ans 1. CBGH 

2. CDFE 

3. CBDE 

4. CDEF 

Q.48 एक निश्चित कू ट भाषा में,
‘M & N’ का अर्थ है, ‘M, N की पत्नी है',
‘M @ N’ का अर्थ है, ‘M, N के  दादा है',
‘M % N’ का अर्थ है, ‘M, N का भाई है',
‘M # N’ का अर्थ है, ‘M, N का पुत्र है'।
उपरोक्त के  आधार पर, यदि 'P @ Q # R & S% T' है, तो P, T से किस प्रकार संबंधित है?

Ans 1. भाई

2. पिता के  भाई

3. पिता

4. ससुर

Q.49 उस विकल्प का चयन कीजिए, जो पाँचवें अक्षर-समूह से उसी प्रकार संबंधित है, जिस प्रकार दू सरा अक्षर-समूह
पहले अक्षर-समूह से संबंधित है और चौथा अक्षर-समूह तीसरे  अक्षर-समूह से संबंधित है।
BOIL : DRMQ :: SCAR : UFEW :: MAIL : ?

Ans 1. ODMS 

2. ODMQ 

3. ODLR 

4. ODNR 

Q.50 पाँच खिलाड़ी (A, B, C, D और E) एक क्रिके ट के  मैदान में इस तरह से फ़ील्डिं ग कर रहे हैं कि सभी एक दू सरे  से
समान दू री पर हैं। B, A के  पूर्व में है, जबकि C, A के  दक्षिण में है। यदि D, C के  पूर्व में और E के  पश्चिम में है,
तो E के  संदर्भ में B का स्थान क्या है?

Ans 1. उत्तर-पश्चिम

2. दक्षिण

3. दक्षिण-पूर्व

4. पूर्व

Q.1 सहकार प्रज्ञा पहल को कौन-सा मंत्रालय नियंत्रित करता है?

Ans 1. कृ षि और किसान कल्याण मंत्रालय

2. वित्त मंत्रालय

3. गृह मंत्रालय

4. शिक्षा मंत्रालय

Q.2 सुकें द्रकी और प्राक्कें द्रकी कोशिका के  मध्य कौन-सा अंगक उभयनिष्‍ठ होता है?

Ans 1. कें द्रक

2. कोशिका झिल्ली

3. कोशिका अंगक

4. राइबोसोम

Section : General Awareness
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Q.3 निम्नलिखित में से कौन-सा तत्त्व उच्च रक्तचाप के  लिए उत्तरदायी है?

Ans 1. पोटैशियम

2. सोडियम

3. कै ल्शियम

4. मैग्निशियम

Q.4 भारत में मतदान की आयु 21 वर्ष से घटाकर 18 वर्ष कब की गई थी?

Ans 1. 1988

2. 1990

3. 1987

4. 1989

Q.5 आवर्त सारणी में हैलोजन समूह के  संबंध में गलत कथन की पहचान करें ।

Ans 1. वे आवर्त सारणी पर आदर्श गैसों के  बाईं ओर स्थित होते हैं ।

2. वे अभिक्रियाशील अधातु हैं ।

3. उनके  आवर्त में उनका परमाणु आकार सबसे बड़ा होता है ।

4. वे अपनी तात्विक अवस्थाओं में द्विपरमाणुक अणु बनाते हैं ।

Q.6 निम्नलिखित में से कौन-सी स्थापत्य विशेषता हड़प्पा नगरों का हिस्सा नहीं थी?

Ans 1. अच्छी तरह से पकी हुई ईंट के  घर

2. औद्योगिक और वाणिज्यिक भवन

3. सड़कें  और मार्ग

4. जलनिकासी व्‍यवस्‍था

Q.7 23वाँ फीफा विश्व कप फु टबॉल (FIFA World Cup Football) संयुक्त रूप से ______________ के  द्वारा
आयोजित किया जाएगा।

Ans 1. जर्मनी, पोलैंड और ऑस्ट्रिया

2. कनाडा, यूएसए और मैक्सिको

3. फ्रांस, जर्मनी और स्पेन

4. फ्रांस, जर्मनी और इटली

Q.8 द ग्लासब्लोअर्स ब्रीथ (The Glassblower’s Breath) पुस्तक की लेखिका निम्नलिखित में से कौन हैं?

Ans 1. चित्रा बनर्जी दिवाकरुणी

2. भारती मुखर्जी

3. शोभा डे

4. सुनेत्रा गुप्ता

Q.9 निम्नलिखित में से कौन-सा साइटोस्के लेटन फिलामेंट्स (cytoskeleton filaments) से संबंधित नहीं है?

Ans 1. तारककें द्र

2. सूक्ष्मनलिकाएं

3. अंतस्थ

4. एक्टिन

Q.10 भारत की वर्ष 2011 की जनगणना के  अनुसार, किस राज्य में हिं दुओं  की संख्या सबसे अधिक है?

Ans 1. महाराष्ट्र

2. उत्तर प्रदेश

3. के रल

4. मध्य प्रदेश
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Q.11 खजुराहो निम्नलिखित में से किस राजवंश की राजधानियों में से एक था?

Ans 1. प्रतिहार राजवंश

2. चंदेल राजवंश

3. पाल राजवंश

4. कलचुरी राजवंश

Q.12 निम्नलिखित में से कौन-सा एलिमेंट सरकारी घाटे को वित्‍त पोषित करने का एक तरीका नहीं है?

Ans 1. घाटे का वित्तपोषण

2. घरे लू और अंतरराष्ट्रीय स्रोतों से उधार

3. उच्च कराधान

4. गैर-कर राजस्व

Q.13 मोढेरा में सूर्य मंदिर निम्नलिखित में से किस शासक द्वारा बनवाया गया था?

Ans 1. आदित्य प्रथम

2. गोविं द द्वितीय

3. राजा भीमदेव प्रथम

4. कृ ष्णदेव राय

Q.14 साइकिलिं ग ट्रैक को किस नाम से जाना जाता है?

Ans 1. एरोड्रोम (Aerodrome)

2. एस्ट्रोटर्फ  (Astroturf)

3. वेलोड्रोम (Velodrome)

4. वेलोसुपर (Velosuper)

Q.15 यूपीआई के  लिए मार्गदर्शी परियोजना किस वर्ष शुरू की गयी?

Ans 1. 2004

2. 2010

3. 2016

4. 2014

Q.16 निम्नलिखित में से किस प्राकृ तिक बंदरगाह को अरब सागर की रानी के  रूप में जाना जाता है?

Ans 1. मुंबई

2. मोरमुगाओ

3. कोच्चि

4. न्यू मैंगलोर

Q.17 निम्नलिखित में से किस अवधि को सरकार द्वारा 'योजना अवकाश' घोषित किया गया था?

Ans 1.  1967-1969

2. 1965-1968 

3. 1966-1971 

4. 1966-1969 

Q.18 निम्नलिखित में से किस वर्ष में ऊर्जा के  गैर-जीवाश्म स्रोतों को अधिदेशित करने और भारत में एक घरे लू कार्बन
बाजार स्थापित करने के  लिए ऊर्जा संरक्षण संशोधन विधेयक पारित किया गया था?

Ans 1. 2004

2. 2015

3. 2022

4. 1999
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Q.19 भारत की जनगणना 2011 के  अनुसार, निम्नलिखित में से किस राज्य में अनुसूचित जाति (SC) की जनसंख्या दर्ज
नहीं की गई थी?

Ans 1. मणिपुर

2. नागालैंड

3. पंजाब

4. गुजरात

Q.20 चेन्नई ओपेन 2022 टेनिस एकल ________ ने जीता था।

Ans 1. लुईसा स्टेफनी (Luisa Stefani)

2. सानिया मिर्ज़ा (Sania Mirza)

3. लिंडा फ्रू हविर्टोवा (Linda Fruhvirtova)

4. गेब्रिएला डबरोस्की (Gabriela Dabrowski)

Q.21 निम्नलिखित में से कौन-सी पुस्तक साहित्य के  लिए यूरोपीय संघ पुरस्कार के  विजेता संजीव सहोता द्वारा लिखी
गई है?

Ans 1. द इयर ऑफ द रनअवेज

2. द व्हाइट टाइगर

3. द गॉड ऑफ स्माल थिंग्स

4. मिडनाइट्स चिल्ड्रेन

Q.22 उत्तर-पश्चिमी भारत में स्थित रे गिस्तान का क्या नाम है?

Ans 1. दक्कन

2. मालवा

3. थार

4. घाट

Q.23 साइमन कमीशन की नियुक्ति किस वर्ष और किस उद्देश्य से की गई थी?

Ans 1. 1924 में स्वराज में सुधार करने के  लिए

2. 1939 में, भारत की युद्ध संबंधी तैयारियों का मूल्यांकन करने के  लिए

3. 1942 में युद्ध के  दौरान सेना की गतिविधियों को बढ़ाने के  लिए

4. 1927 में, भारत के  संविधान में एक और सुधार की सिफारिश करने के  लिए

Q.24 कोशिकांगों के  संदर्भ में एक सेंट्रीओल (तारक-कें द्र)_______है।

Ans 1. एक झिल्ली-बद्ध कोशिका अंग, जिसमें पाचन एंजाइम होते हैं

2. जंतु कोशिकाओं के  कोशिका द्रव्य में कें द्रक झिल्ली के  पास स्थित एक युग्मित बैरल के  आकार का अंग

3. पादप कोशिकाओं में सर्वत्र पाए जाने वाले कोशिकांगों का एक विषमांगी परिवार

4. कोशिका के  कोशिकाद्रव्य (cytoplasm) के  अंदर झिल्लियों द्वारा निर्मि त छोटे चपटे थैलों का एक ढेर

Q.25 वह प्रजाति जो बंजर क्षेत्र पर आक्रमण करती हैं, _______ प्रजाति कहलाती हैं।

Ans 1. प्राथमिक (primary)

2. द्वितीयक (secondary)

3. कू ड़ावासी ( ruderal)

4. मूल अन्वेषक (pioneer)

Q.26 भारत ने किस वर्ष पुरुष हॉकी विश्व कप जीता था?

Ans 1. 1983

2. 1975

3. 1984

4. 1979
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Q.27 निम्नलिखित संगीतकारों में से कौन कर्नाटक संगीत के  संगीतकार है और जिन्हें घटम का देवता भी कहा जाता है?

Ans 1. आर. वी. राघवन

2. टी. एच. विनायकराम

3. राम नारायण

4. असद अली खान

Q.28 संगीत नाटक अकादमी पुरस्कार से सम्मानित जतिन गोस्वामी एक प्रसिद्ध ________ नर्तक हैं।

Ans 1. कत्थक

2. मोहिनीअट्टम

3. सत्रिया

4. कत्थकली

Q.29 फाइलोसिलिके ट के  सर्वोत्तम उदाहरण क्या हैं?

Ans 1. मर्क री, ग्रेफाइट, डायमंड

2. पाइराइट, गैलेना, स्फालराइट

3. माइकास, क्लोराइट, टाल्क और सर्पेंटाइन

4. कै ल्साइट, मैग्नेसाइट, डोलोमाइट

Q.30 एथलेटिक्स में किस दौड़ स्पर्धा में बाधा दौड़ का उपयोग किया जाता है?

Ans 1. 800 मीटर दौड़

2. 5000 मीटर दौड़

3. 400 मीटर दौड़

4. 1500 मीटर दौड़

Q.31 उपन्यासकार और उनकी रचनाओं के  सही संयोजन का चयन कीजिए।

Ans 1. झूठा सच - यशपाल

2. चित्रलेखा - फणीश्वर नाथ रे णु

3. तमस - श्रीलाल शुक्ला

4. मैला आंचल - भीष्म साहनी

Q.32 Which of the following steps promoted the growth of the economy as a whole by
stimulating the development of industrial and tertiary sectors?

Ans 1. Planning

2. Green Revolution

3. Colonial rule

4. Independence

Q.33 आवर्त सारणी के  समूह 13 में पहला तत्त्व कौन-सा तत्त्व है?

Ans 1. अल्युमीनियम

2. बोरान

3. गैलियम

4. इं डियम

Q.34 निम्नलिखित में से कौन-सा/से कथन सही है/हैं?
1) भारत के  प्रायद्वीपीय क्षेत्र में कोई सुपरिभाषित शीत ऋतु नहीं होती है।
2) दिसंबर के  अंत तक (अर्थात 22 दिसंबर तक), सूर्य दक्षिणी गोलार्द्ध में मकर रे खा पर लंबवत चमकता है।

Ans 1. दोनों कथन सही हैं

2. के वल कथन 1 सही है

3. के वल कथन 2 सही है

4. दोनों कथन ग़लत हैं
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Q.35 सी पेन (समुद्री पिच्छक) के  वैज्ञानिक नाम की पहचान कीजिए, जो संघ नाइडेरिया से संबंधित है।

Ans 1. ओबेलिया

2. गोर्गोनिया

3. एडम्सिया

4. पेनाटुला

Q.36 द ग्रेट इं डियन नॉवेल (The Great Indian Novel) पुस्तक के  लेखक निम्नलिखित में से कौन हैं?

Ans 1. शशि थरूर

2. अमिताव घोष

3. अमीश त्रिपाठी

4. विक्रम सेठ

Q.37 पुरी का कार महोत्सव या रथ महोत्सव (रथ यात्रा) किस भगवान से जुड़ा एक प्रसिद्ध त्योहार/महोत्सव है?

Ans 1. शिव

2. गणेश

3. जगन्नाथ

4. कार्ति के य

Q.38 एसिटिलीन (C2H2) में, कार्बन परमाणुओं  का संकरण ________होता है।

Ans 1. sp

2. sp2

3. sp2d

4. sp3

Q.39 ब्रिटिश भारत की सरकार ने किस वर्ष एक कानून पारित किया जिसके  अनुसार ईसाई धर्म अपनाने वालों को अपनी
पैतृक संपत्ति में अधिकार प्राप्त हुआ?

Ans 1. 1850 में

2. 1839 में

3. 1855 में

4. 1846 में

Q.40 चंद्रगुप्त मौर्य की राजधानी _________ थी।

Ans 1. नालंदा

2. मगध

3. वैशाली

4. पाटलिपुत्र

Q.41 निम्नलिखित में से किसने 56 तत्त्वों को उनके  परमाणु द्रव्यमान के  आरोही क्रम में व्यवस्थित किया और पाया कि
प्रत्येक 8वें तत्त्व के  गुण समान थे?

Ans 1. जॉन न्यूलैंड्स

2. दिमित्री मेंडेलीव

3. वैन स्प्रोन्सेन

4. लोथर मेयर

Q.42 भारत में निम्नलिखित में से किस प्रकार की सड़कों पर सबसे अधिक सड़क यातायात होता है?

Ans 1. जिला सड़कों

2. राष्ट्रीय राजमार्गों

3. सीमा (बॉर्डर) सड़कों

4. राज्य राजमार्गों
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Q.43 निम्नलिखित में से किस असमिया पार्श्व गायक को 2019 में भारत रत्न से सम्मानित किया गया था?

Ans 1. ज़ोई बरुआ

2. जुबीन गर्ग

3. जयंत हजारिका

4. भूपेन हजारिका

Q.44 गत वर्ष दिसंबर में पेश किए गए कॉलेजियम के  प्रस्ताव को कें द्र द्वारा मंजूरी दिए जाने के  बाद 2023 में राष्ट्रपति
द्वारा निम्नलिखित में से किस न्यायाधीश को सर्वोच्च न्यायालय में नियुक्त नहीं किया गया था?

Ans 1. सुधीर सिं ह

2. मनोज मिश्रा

3. पी.वी. संजय कु मार

4. पंकज मिथल

Q.45 मथुरा के  निकट वृंदावन में, मंदिरों का निर्माण ऐसी स्थापत्य शैली में किया गया था, जो ________ के  मुगल
महलों के  काफी समान थे।

Ans 1. मांडू

2. झांसी

3. गोलकोंडा

4. फतेहपुर सीकरी

Q.46 यामिनी कृ ष्णमूर्ति  निम्नलिखित में से किस नृत्य शैली की नृत्यांगना हैं?

Ans 1. कु चिपुड़ी और भरतनाट्यम

2. कु चिपुड़ी और कथक

3. कु चिपुड़ी और मोहिनीअट्टम

4. कु चिपुड़ी और ओडिसी

Q.47 निम्नलिखित में से कौन सा एक संवैधानिक निकाय नहीं है?

Ans 1. भाषाई अल्पसंख्यकों के  लिए विशेष अधिकारी

2. नियंत्रक एवं महालेखापरीक्षक

3. भारत के  महान्यायवादी

4. राष्ट्रीय अल्पसंख्यक आयोग

Q.48 वर्चस्व के  लिए हुए एक लंबे संघर्ष के  बाद, निम्नलिखित में से कौन-सा महाजनपद सबसे शक्तिशाली महाजनपद
के  रूप में उभरा था?

Ans 1. कोशल

2. वत्स

3. गांधार

4. मगध

Q.49 अंबुबाची मेला असम में किस मंदिर के  परिसर में आयोजित किया जाता है?

Ans 1. उमानंद मंदिर

2. दौल गोविं दा मंदिर

3. अश्वकलांता मंदिर

4. कामाख्या मंदिर
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Q.50 निम्नलिखित में से कौन-सी पुस्तक की रचना ज्योतिबा फु ले द्वारा नहीं की गई थी?

Ans 1. ब्रह्मनांचे कसाब

2. गुलामगिरी

3. द अनटचेबल

4. शेतकार्याचा आसुद

Q.1 Identify the error in the following sentence.
The swimmer jumped on the pool with the whistle.

Ans 1. with 

2. whistle 

3. on 

4. jumped 

Q.2 Select the most appropriate option that can substitute the underlined segment without
changing its meaning in the given sentence.
The resort manager planned to welcome the guests with open arms when they arrived.

Ans 1. in a secretive way

2. without any delay

3. in a cordial manner

4. in a melancholy spirit

Q.3 Select the option that expresses the given sentence in passive voice.

Mr. Prakash writes short stories.
Ans 1. Short stories were written by Mr. Prakash.

2. Short stories are being written by Mr. Prakash.

3. Short stories are written by Mr. Prakash.

4. Short stories have been written by Mr. Prakash.

Q.4 Select the most appropriate ANTONYM of the given word.
Latent

Ans 1. Antique

2. Punctual

3. Manifest

4. Early

Q.5 Select the most appropriate option to fill in the blank.
___________ the teacher entered the classroom, all the students stood up to greet
him.

Ans 1. Yet

2. Rather

3. Whereas

4.  As soon as

Q.6 Select the option that expresses the given sentence in active form.
A lot of masks have been distributed by the social workers.

Ans 1. The social workers had distributed a lot of masks.

2. The social workers have distributed a lot of masks.

3. The social workers are distributing a lot of masks.

4. The social workers would distribute a lot of masks.

Section : English Language and Comprehension
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Q.7 Select the option that expresses the given sentence in direct speech.
The student requested them to take him to the reception.

Ans 1. “Take me to the reception,” said the student.

2. “Take me to the reception now,” said the student.

3. “Please take me in the reception,” said the student.

4. “Please take me to the reception," said the student.

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

a. Peace of mind is commonly correlated with happiness, contentment, tranquility,
contemplation, exercise and relaxation.
b. Thus, we all need peace of mind in our lives.
c. Peace of mind, thus, give us all these attributes.
d. One of the most important aspects of the mind is getting peace.

Ans 1. bdca

2. dcba

3. bcda

4. dacb

Q.9 Identify the error in the given sentence and select the correct sentence from the given
options.
Tide pool is a isolated pocket of water that is formed when sea water becomes trapped
as tide goes out.

Ans 1. The tide pool is isolated pocket of water that is formed when sea water becomes
trapped as tide goes out.

2. Tide pool is isolated pocket of water that is formed when sea water becomes trapped
as a tide goes out.

3. A tide pool is an isolated pocket of water that is formed when sea water becomes
trapped as the tide goes out.

4. A tide pool is a isolated pocket of water that is formed when sea water becomes
trapped as a tide goes out.

Q.10 Select the most appropriate synonym that can replace the underlined word in the
given sentence.

She could sense something ominous in the darkness of the night.
Ans 1. inauspicious

2. blissful

3. propitious

4. profane

Q.11 Select the most appropriate option that expresses the given sentence in passive voice.
Seema will have told you the truth.

Ans 1. You would have told the truth to Seema.

2. You will have been told the truth by Seema.

3. You are told the truth by Seema. 

4. Seema had told you the truth.  

Q.12 Identify the errors in the given sentence and choose the sentence that rectifies these
errors.
A youth must respect the elderly, the rich must help the needy and a powerful must
help the weak. If we keep up this trend, then the world can be a beautiful place.

Ans 1. The youth must respect the elderly, the rich must help the needy and the powerful
must help the weak. If we keep up this trend, then the world can be a beautiful place.

2. The youth must respect the elderly, the rich must help the needy and powerful must
help the weak. If we keep up this trend, then the world can be a beautiful place

3. The youth must respect the elderly, the rich must help the needy and the powerful
must help weak. If we keep up this trend, then the world can be a beautiful place.

4. The youth must respect the elderly, rich must help needy and the powerful must help
the weak. If we keep up this trend, then the world can be a beautiful place.
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Q.13 Select the most appropriate synonym of the given word.
Wanton

Ans 1. Obscene

2. Abrogation

3. Habit

4. Prevent

Q.14 Select the option that expresses the given sentence in indirect speech.
My friend said to me, “Do you want to accompany us on this tour?”

Ans 1. My friend asked me if I wanted to accompany them on that tour.

2. My friend asked me if he wanted to accompany them on that tour.

3. My friend asked me if I wanted to accompany them on that tour?

4. My friend asked me if I wanted to accompany us on that tour.

Q.15 Select the option that expresses the following sentence in indirect speech.

“I am going to play with my friends,” the child says to his mother.
Ans 1. The child said to his mother that he was going to play with his friends.

2. The child asked his mother that he is going to play with his friends.

3. The child tells his mother that he is going to play with his friends.

4. The child told his mother that I am going to play with my friends.

Q.16 Select the option that expresses the given sentence in passive form.
He will visit the orphanage tomorrow.

Ans 1. The orphanage will be visited by him tomorrow.

2. The orphanage must be visited by him tomorrow.

3. The orphanage is visited by him tomorrow.

4. The orphanage should be visited by him tomorrow.

Q.17 Select the most appropriate ANTONYM of the underlined word to fill in the blank.

A true friend always _______, but a selfish friend tries to mislead.
Ans 1. guides

2. deplores

3. imbibes

4. deludes

Q.18 Select the option that correctly expresses the following sentence in indirect speech.
Ritu said, “I am eating apples.”

Ans 1. Ritu said that she has been eating apples.

2. Ritu told that she was eating apples.

3. Ritu said that she had been eating apples.

4. Ritu said that she was eating apples.

Q.19 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

(a) The more it rains,/ (b) worse/ (c) the roads become/ (d) No error
Ans 1. c

2. b

3. d

4. a 
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Q.20 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. Booming with private developers
B. And it is changing the landscape of the urban and semi-urban habitat
C. Making the Indian elevator industry the second highest market in the world
D. India’s real estate business is

Ans 1. ABCD

2. BACD

3. DBAC

4. DABC

Q.21 Select the option that expresses the given sentence in direct speech.
He exclaimed with delight that he had won the first prize.

Ans 1. “Hurrah! I win the first prize,” said he. 

2. “Wow! I might win the first prize,” said he. 

3. “Hurrah! I have won the first prize,” said he.

4. “Hurrah! I will win the first prize,” said he. 

Q.22 Select the most appropriate meaning of the underlined idiom.
The sergeant ordered the soldiers to be armed to the teeth as he expected it to be a
tough fight.

Ans 1. Separated from the worthless

2. Working in a great hurry

3. Active without any goals

4. Well-equipped or prepared

Q.23 Select the option that expresses the given sentence in indirect speech.
“You were warned by us three days ago,” the manager shouted at him.

Ans 1. The manager shouted at him that he was warned by them three days earlier.

2. The manager shouted at him that he was warned by them three days before. 

3. The manager shouted at him that he was warned by them three days ago.

4. The manager shouted at him that he had been warned by them three days before.

Q.24 The given sentence is divided into four segments. Select the option that has the
segment with a grammatical error.
Ravi always / boasts at / his / achievements.

Ans 1. achievements.

2. boasts at

3. Ravi always 

4. his

Q.25 Select the option that expresses the given sentence in active voice.
Geography is taught to us by Mr. Anand.

Ans 1. Mr. Anand teaches us Geography.

2. Mr. Anand shall teach us Geography.

3. Mr. Anand will teach us Geography.

4. Mr. Anand will be teaching us Geography.

Q.26 Select the most appropriate ANTONYM of the underlined word to fill in the blank.

Only Mr. Sen’s emotions were genuine, while others showed ___________ sadness at
grandmother’s death.

Ans 1. precise

2. friendly

3. fake

4. authentic
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Q.27 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

(a) Show me file/ (b) which has been given/ (c) to you by the lawyer . / (d) No error
Ans 1. a 

2. b

3. d

4. c

Q.28 Replace the underlined word in the given sentence with the most appropriate synonym
from the options listed below.
Morality is contextual; therefore, it is foolish to believe that one’s moral judgement
would be perfect and immaculate .

Ans 1. indelicate

2. grubby 

3. tarnished

4. impeccable

Q.29 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

In August next year, / she will been / studying / for four years.
Ans 1. studying

2. In August next year,

3. she will been

4. for four years 

Q.30 Select the most appropriate ANTONYM of the underlined word in the sentence given
below.

Do not linger in the corridor.
Ans 1. trifle

2. delay

3. hasten

4. idle

Q.31 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Dr. Paramahamsa has been working / as a Assistant Professor / of Mathematics / in IIT
Madras for five years.

Ans 1. of Mathematics

2. as a Assistant Professor

3. Dr. Paramahamsa has been working

4. in IIT Madras for five years 

Q.32 Select the most appropriate option to fill in the blank.

Survival of mankind __________ is in danger due to pollution.
Ans 1. itself 

2. yourself

3. himself 

4. herself
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Q.33 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
a.Freedom of thought and expression are fundamental human rights.
b.There are two important human rights.
c.Through good deeds, one can gain dignity.
d.Everyone has the inherent right to be treated with dignity and courtesy at all times.

Ans 1. bcad

2. bcda

3. dcba

4. acdb

Q.34 Select the option that expresses the given sentence in direct speech.
The principal said that he would hold a meeting the next day.

Ans 1. “Tomorrow, I will hold a meeting,” says the principal.

2. “I will hold a meeting tomorrow,” said the principal.

3. “A meeting will be held by me,” said the principal.

4. “I will be holding a meeting tomorrow,” the principal said.

Q.35 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
What are there reasons for refusing the offer?

Ans 1. are there reason 

2. is their reasons 

3. are their reasons 

4. is there reasons

Q.36 Select the most appropriate option to fill in the blank.
Our chemistry teacher taught us how, through a chemical reaction, milk ________ into
curd.

Ans 1. converts

2. progresses

3. diverts

4. happens

Q.37 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
A first / Indian who / went to space / was Rakesh Sharma.

Ans 1. went to space

2. was Rakesh Sharma

3. Indian who

4. A first

Q.38 Select the option that expresses the given sentence in passive voice.

Why did your manager refuse to give you the pay raise?
Ans 1. Why had your manager refused to give you the pay raise?

2. Why have you been refused the pay raise by your manager?

3. Why has the pay raise been refused to be given to you by your manager? 

4. Why was the pay raise refused to be given to you by your manager? 

Q.39 Select the most appropriate ANTONYM of the given word.

Languishing
Ans 1. Temporary

2. Mesmerising

3. Flourishing

4. Diminutive
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Q.40 Select the most appropriate ANTONYM of the bracketed word in the following
sentence to fill in the blank.

My friend is not stubborn with regard to opinions; in fact, she is
________(intransigent).

Ans 1. pertinacious

2. subservient

3. tenacious

4. obstinate

Q.41 Select the most appropriate synonym of the given word.

Prerogative
Ans 1. Bias

2. Privilege

3. Predisposition

4. Satisfaction

Q.42 Select the correct interrogative sentence.
Ans 1. What is the name of a next station? 

2. What is the name of the next station? 

3. What is a name of a next station? 

4. What is a name of the next station? 

Q.43 Select the option that will improve the underlined part of the given sentence.
He behaves if he were a king.

Ans 1. will be behaving as

2. behaves as if

3. has been behaving as

4. could be behaving as

Q.44 Replace the underlined word in the given sentence with the most appropriate synonym
from the options listed below.
A slow, languid smile crossed her face, as if to voice the contentment of her heart.

Ans 1. Hurried

2. Sluggish

3. Energetic

4. Lively

Q.45 Select the most appropriate meaning of the given idiom.

To flog a dead horse
Ans 1. To waste one’s energy on a lost cause

2.  To remain valid

3.  To achieve something easily

4. To escape from the situation 

Q.46 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
(A) They do taste kind of funny.
(B) I’ve done so all my life.
(C) But it keeps them on the knife.
(D) I always eat peas with honey.

Ans 1. CBAD

2. ABDC

3. BACD

4. DBAC
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Q.47 Select the option that expresses the given sentence in active voice.

She was laughed at by all her friends.
Ans 1. All her friends laugh at her.

2. All her friends had been laughing at her.

3. All her friends had laughed at her.

4. All her friends laughed at her. 

Q.48 Select the option that expresses the given sentence in passive voice.
They think that the Governor will resign.

Ans 1. It is thought that the Governor will resign. 

2. They think that the Governor is resigning. 

3. It is thought that the Governor will be resigning. 

4. They thought that the Governor would be resigning. 

Q.49 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
I looked / of the newspaper headlines / but I didn’t read / carefully.

Ans 1. I looked

2. carefully

3. but I didn’t read

4. of the newspaper headlines

Q.50 Select the most appropriate meaning of the given idiom.
Nipped in the bud

Ans 1. To stop something immediately so that it does not become a worse problem

2. To remove unnecessary items

3. Very promising at a young age

4. To cut the bud

Q.51 Select the option that expresses the given sentence in active voice.
His finger had been cut by the sharp knife.

Ans 1. The sharp knife has cut his finger. 

2. The sharp knife had cut his finger.

3. The sharp knife cuts his finger.  

4. The sharp knife had been cutting his finger.  

Q.52 Select the option that expresses the given sentence in active voice.

A blog page has been created by the head of the department for the conference.
Ans 1. The head of the department was creating a blog page for the conference.

2. The head of the department has created a blog page for the conference.

3. The head of the department has been creating a blog page for the conference.

4. The head of the department created a blog page for the conference.

Q.53 Select the most appropriate option to substitute the underlined segment in the given
sentence.
We should help each other to make a society that will be not concerned with any
particular religious doctrines.

Ans 1. a humanist society

2. a prejudiced society 

3. a harmonious society

4. a secular society
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Q.54 Select the option that correctly expresses the following sentence in indirect speech.
“I am not feeling well,” said Mary.

Ans 1. Mary says that she is not feeling well.

2. Mary said that she is not feeling well.

3. Mary says that she wasn’t feeling well.

4. Mary said that she was not feeling well.

Q.55 Select the option that expresses the given sentence in active form.
The entire cake was eaten by Maria.

Ans 1. Maria was eating the entire cake.

2. Maria is eating the entire cake.

3. Maria had eaten the entire cake.

4. Maria ate the entire cake.

Q.56 The following sentence has been divided into four segments. Identify the segment that
contains a grammatical error.
Since 1988, / the people of Rajasthan / have been searching / for 25-year-old man.

Ans 1. Since 1988,

2. the people of Rajasthan

3. for 25-year-old man.

4. have been searching

Q.57 Select the most appropriate idiom that can substitute the underlined segment in the
given sentence.

Though the speaker used flowery expressions to convince the audience, they were
intelligent enough to find out his ulterior intentions.

Ans 1. to cast pearls before swine

2. to read between the lines

3. to be under somebody’s thumb

4. to not judge a book by its cover

Q.58 Select the option that gives the most appropriate meaning of the underlined word.
The women of this country never questioned anything. Why are they so credulous?

Ans 1. Indifferent to the basic necessities of life 

2. Suspicious of everything surrounding them 

3. Reluctant to face the difficulties of life with courage

4. Willing to believe promptly without adequate evidence

Q.59 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Doctor wants Tony to cut back down junk foods.
Ans 1. to cut back off 

2. to cut back out 

3. to cut back over

4. to cut back on 

Q.60 Select the option that expresses the given sentence in indirect speech.
He said to her, “Do you know French?”

Ans 1. He asked her whether she has known French.

2. He asked her if she knew French.

3. He asked her if she knows French.

4. He asked her that does she know French.
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Q.61 Select the option that expresses the given sentence in indirect speech.
Gita said, “I lost my umbrella.”

Ans 1. Gita said that she had lost her umbrella. 

2. Gita told me that he lost her umbrella.

3. Gita said that I lost my umbrella.

4. Gita expressed that she has lost her umbrella.

Q.62 Select the most appropriate option to fill in the blank.
I always believe that ________ is the best policy.

Ans 1. complexity

2. sanctity

3. immorality

4. honesty 

Q.63 Select the most appropriate meaning of the given idiom.

A storm in a teacup
Ans 1. Unnecessary anger or worry 

2. An easy and pleasant job 

3. More than expected or required 

4. A hidden advantage 

Q.64 Select the option that expresses the given sentence in direct speech.
My sister requested me to bring her a watch.

Ans 1. She said, “My sister, please bring me a watch.”

2. My sister said, “Will you bring me a watch?”

3. “Please bring me a watch,” said my sister.

4. “Please bring my sister a watch,” said she.

Q.65 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
There are being several psychological theories that aid the diagnosis of a mental
disorder or illness.

Ans 1. is several

2. have being several

3. are several

4. are severally

Q.66 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
(P) and innovative solutions
(Q) creativity is the driving force
(O) behind new ideas
(R) for progress and change

Ans 1. PQRO

2. ROQP

3. QROP

4. ORQP
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Q.67 In the following passage, some words have been deleted. Read the passage carefully
and select the most appropriate option to fill in each blank.
Mount Vesuvius is (1)________ near Pompeii. It began to erupt and covered everything
with stones and hot ash which fell like (2)________ from the sky. It (3)______ the city
almost under 2 metres of volcanic molten material.

Ans 1. (1)situated; (2)tornado; (3) treasured

2. (1)located; (2)a blizzard; (3) buried

3. (1)placed; (2)volcano; (3) hid

4. (1)found; (2)hail; (3) ignored

Q.68 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.
Mr. Unkerton glanced / to the inspector, / who merely snorted / and looked at the
ceiling.

Ans 1. Mr. Unkerton glanced

2. who merely snorted

3. to the inspector,

4. and looked at the ceiling.

Q.69 Select the option that expresses the given sentence in passive voice.

Ms. Jyothi will finish the task in a week.
Ans 1. The task is being finished by Ms. Jyothi in a week.  

2. The task was being finished by Ms. Jyothi in a week.  

3. The task will have been finished by Ms. Jyothi in a week.  

4. The task will be finished by Ms. Jyothi in a week. 

Q.70 Select the option that expresses the given sentence in indirect speech.
The reporter reported, “The US President is arriving to India this week.”

Ans 1. The reporter reported that the US President was arriving to India this week.

2. The reporter reported that the US President is arriving to India next week. 

3. The reporter reported that the US President was arriving to India that week.

4. The reporter reports that the US President is arriving to India that week.

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Food brings people together and cooking at home is a great way to unite your family over the
1. _________ table. Everyone loves a home-cooked meal— even moody teenagers or picky
eaters. And, if you live alone, that doesn’t mean you have to cook or eat 2. _________. If you
live alone, invite a friend, co-worker or neighbour over. Sharing meals with others is a great
way to 3. _________ your social network. Getting appreciative feedback on a 4.
_________you’ve prepared for someone can bring a real boost to your self-esteem too. The
simple act of talking to a friend or loved-one over food can play a big role in relieving stress
and 5. _________ mood. Gather the family together and stay up to date with each other’s
daily lives.

SubQuestion No : 71
Q.71 Select the most appropriate option to fill in blank number 1.
Ans 1. study

2. dining

3. vanity

4. console
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Food brings people together and cooking at home is a great way to unite your family over the
1. _________ table. Everyone loves a home-cooked meal— even moody teenagers or picky
eaters. And, if you live alone, that doesn’t mean you have to cook or eat 2. _________. If you
live alone, invite a friend, co-worker or neighbour over. Sharing meals with others is a great
way to 3. _________ your social network. Getting appreciative feedback on a 4.
_________you’ve prepared for someone can bring a real boost to your self-esteem too. The
simple act of talking to a friend or loved-one over food can play a big role in relieving stress
and 5. _________ mood. Gather the family together and stay up to date with each other’s
daily lives.

SubQuestion No : 72
Q.72 Select the most appropriate option to fill in blank number 2.
Ans 1. together

2. healthy

3. every day

4. alone

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Food brings people together and cooking at home is a great way to unite your family over the
1. _________ table. Everyone loves a home-cooked meal— even moody teenagers or picky
eaters. And, if you live alone, that doesn’t mean you have to cook or eat 2. _________. If you
live alone, invite a friend, co-worker or neighbour over. Sharing meals with others is a great
way to 3. _________ your social network. Getting appreciative feedback on a 4.
_________you’ve prepared for someone can bring a real boost to your self-esteem too. The
simple act of talking to a friend or loved-one over food can play a big role in relieving stress
and 5. _________ mood. Gather the family together and stay up to date with each other’s
daily lives.

SubQuestion No : 73
Q.73 Select the most appropriate option to fill in blank number 3.
Ans 1. expand

2. reduce

3. harm

4. break

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Food brings people together and cooking at home is a great way to unite your family over the
1. _________ table. Everyone loves a home-cooked meal— even moody teenagers or picky
eaters. And, if you live alone, that doesn’t mean you have to cook or eat 2. _________. If you
live alone, invite a friend, co-worker or neighbour over. Sharing meals with others is a great
way to 3. _________ your social network. Getting appreciative feedback on a 4.
_________you’ve prepared for someone can bring a real boost to your self-esteem too. The
simple act of talking to a friend or loved-one over food can play a big role in relieving stress
and 5. _________ mood. Gather the family together and stay up to date with each other’s
daily lives.

SubQuestion No : 74
Q.74 Select the most appropriate option to fill in blank number 4.
Ans 1. biscuits

2. meal

3. card

4. tea
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Food brings people together and cooking at home is a great way to unite your family over the
1. _________ table. Everyone loves a home-cooked meal— even moody teenagers or picky
eaters. And, if you live alone, that doesn’t mean you have to cook or eat 2. _________. If you
live alone, invite a friend, co-worker or neighbour over. Sharing meals with others is a great
way to 3. _________ your social network. Getting appreciative feedback on a 4.
_________you’ve prepared for someone can bring a real boost to your self-esteem too. The
simple act of talking to a friend or loved-one over food can play a big role in relieving stress
and 5. _________ mood. Gather the family together and stay up to date with each other’s
daily lives.

SubQuestion No : 75
Q.75 Select the most appropriate option to fill in blank number 5.
Ans 1. lowering

2. boosting

3. depreciating

4. falling

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given.
A landslip refers to the (1)_________ of rock, soil or other materials as they descend along an
inclined surface of terrain. Landslides can be triggered by several factors such as
precipitation, seismic activity, volcanic eruptions or other destabilising elements affecting the
slope. (2)__________, being scholars specialising in the examination of the Earth's physical
structures, occasionally classify landslides as a sort of mass wasting. Mass wasting refers to
any process in which there is a downward shift of the Earth's surface resulting in erosion.
Additional forms of mass wasting are rockfalls and the movement of coastal sediments known
as alluvium. Landslides pose (3)__________ risks to both, human lives and property in close
proximity to densely inhabited regions. Landslides result in an approximate annual toll of 25 to
50 fatalities and generate economic losses amounting to $3.5 billion inside the United States.
The (4)_________ of landslides can be heightened by human activities, including but not
(5)____________ to agriculture and building. Several operations, such as irrigation,
deforestation, excavation and water leakage, have the potential to induce slope
destabilisation or weakening.

SubQuestion No : 76
Q.76 Select the most appropriate option to fill in blank number 1.
Ans 1. abduction

2. altercation

3. displacement

4. embezzlement

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given.
A landslip refers to the (1)_________ of rock, soil or other materials as they descend along an
inclined surface of terrain. Landslides can be triggered by several factors such as
precipitation, seismic activity, volcanic eruptions or other destabilising elements affecting the
slope. (2)__________, being scholars specialising in the examination of the Earth's physical
structures, occasionally classify landslides as a sort of mass wasting. Mass wasting refers to
any process in which there is a downward shift of the Earth's surface resulting in erosion.
Additional forms of mass wasting are rockfalls and the movement of coastal sediments known
as alluvium. Landslides pose (3)__________ risks to both, human lives and property in close
proximity to densely inhabited regions. Landslides result in an approximate annual toll of 25 to
50 fatalities and generate economic losses amounting to $3.5 billion inside the United States.
The (4)_________ of landslides can be heightened by human activities, including but not
(5)____________ to agriculture and building. Several operations, such as irrigation,
deforestation, excavation and water leakage, have the potential to induce slope
destabilisation or weakening.

SubQuestion No : 77
Q.77 Select the most appropriate option to fill in blank number 2.
Ans 1. Archaeologists

2. Pathologists

3. Geologists

4. Botanists

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given.
A landslip refers to the (1)_________ of rock, soil or other materials as they descend along an
inclined surface of terrain. Landslides can be triggered by several factors such as
precipitation, seismic activity, volcanic eruptions or other destabilising elements affecting the
slope. (2)__________, being scholars specialising in the examination of the Earth's physical
structures, occasionally classify landslides as a sort of mass wasting. Mass wasting refers to
any process in which there is a downward shift of the Earth's surface resulting in erosion.
Additional forms of mass wasting are rockfalls and the movement of coastal sediments known
as alluvium. Landslides pose (3)__________ risks to both, human lives and property in close
proximity to densely inhabited regions. Landslides result in an approximate annual toll of 25 to
50 fatalities and generate economic losses amounting to $3.5 billion inside the United States.
The (4)_________ of landslides can be heightened by human activities, including but not
(5)____________ to agriculture and building. Several operations, such as irrigation,
deforestation, excavation and water leakage, have the potential to induce slope
destabilisation or weakening.

SubQuestion No : 78
Q.78 Select the most appropriate option to fill in blank number 3.
Ans 1. zero

2. small

3. minimal

4. significant
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Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given.
A landslip refers to the (1)_________ of rock, soil or other materials as they descend along an
inclined surface of terrain. Landslides can be triggered by several factors such as
precipitation, seismic activity, volcanic eruptions or other destabilising elements affecting the
slope. (2)__________, being scholars specialising in the examination of the Earth's physical
structures, occasionally classify landslides as a sort of mass wasting. Mass wasting refers to
any process in which there is a downward shift of the Earth's surface resulting in erosion.
Additional forms of mass wasting are rockfalls and the movement of coastal sediments known
as alluvium. Landslides pose (3)__________ risks to both, human lives and property in close
proximity to densely inhabited regions. Landslides result in an approximate annual toll of 25 to
50 fatalities and generate economic losses amounting to $3.5 billion inside the United States.
The (4)_________ of landslides can be heightened by human activities, including but not
(5)____________ to agriculture and building. Several operations, such as irrigation,
deforestation, excavation and water leakage, have the potential to induce slope
destabilisation or weakening.

SubQuestion No : 79
Q.79 Select the most appropriate option to fill in blank number 4.
Ans 1. occurrence

2. show

3. form

4. name

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given.
A landslip refers to the (1)_________ of rock, soil or other materials as they descend along an
inclined surface of terrain. Landslides can be triggered by several factors such as
precipitation, seismic activity, volcanic eruptions or other destabilising elements affecting the
slope. (2)__________, being scholars specialising in the examination of the Earth's physical
structures, occasionally classify landslides as a sort of mass wasting. Mass wasting refers to
any process in which there is a downward shift of the Earth's surface resulting in erosion.
Additional forms of mass wasting are rockfalls and the movement of coastal sediments known
as alluvium. Landslides pose (3)__________ risks to both, human lives and property in close
proximity to densely inhabited regions. Landslides result in an approximate annual toll of 25 to
50 fatalities and generate economic losses amounting to $3.5 billion inside the United States.
The (4)_________ of landslides can be heightened by human activities, including but not
(5)____________ to agriculture and building. Several operations, such as irrigation,
deforestation, excavation and water leakage, have the potential to induce slope
destabilisation or weakening.

SubQuestion No : 80
Q.80 Select the most appropriate option to fill in blank number 5.
Ans 1. named

2. limited

3. freed

4. escaped
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The concept of (1)______ intelligence has intrigued psychologists for decades. It refers to the
ability to understand and manage one’s emotions, as well as (2)______ the emotions of
others. Emotional intelligence plays a crucial role in personal and professional success.
Individuals with high emotional intelligence tend to excel in (3)______ situations, showing
empathy and effective communication. They can also navigate through (4)______ with
resilience and adaptability. Developing emotional intelligence involves self-awareness, self-
regulation, motivation, empathy, and social skills. Cultivating these skills can lead to improved
relationships and better (5)______ outcomes.

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank number 1.
Ans 1. emotional

2. artificial

3. media

4. computer

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The concept of (1)______ intelligence has intrigued psychologists for decades. It refers to the
ability to understand and manage one’s emotions, as well as (2)______ the emotions of
others. Emotional intelligence plays a crucial role in personal and professional success.
Individuals with high emotional intelligence tend to excel in (3)______ situations, showing
empathy and effective communication. They can also navigate through (4)______ with
resilience and adaptability. Developing emotional intelligence involves self-awareness, self-
regulation, motivation, empathy, and social skills. Cultivating these skills can lead to improved
relationships and better (5)______ outcomes.

SubQuestion No : 82
Q.82 Select the most appropriate option to fill in blank number 2.
Ans 1. manage

2. amplify

3. overlook

4. ignore

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The concept of (1)______ intelligence has intrigued psychologists for decades. It refers to the
ability to understand and manage one’s emotions, as well as (2)______ the emotions of
others. Emotional intelligence plays a crucial role in personal and professional success.
Individuals with high emotional intelligence tend to excel in (3)______ situations, showing
empathy and effective communication. They can also navigate through (4)______ with
resilience and adaptability. Developing emotional intelligence involves self-awareness, self-
regulation, motivation, empathy, and social skills. Cultivating these skills can lead to improved
relationships and better (5)______ outcomes.

SubQuestion No : 83
Q.83 Select the most appropriate option to fill in blank number 3.
Ans 1. social

2. theoretical

3. solitary

4. complication
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The concept of (1)______ intelligence has intrigued psychologists for decades. It refers to the
ability to understand and manage one’s emotions, as well as (2)______ the emotions of
others. Emotional intelligence plays a crucial role in personal and professional success.
Individuals with high emotional intelligence tend to excel in (3)______ situations, showing
empathy and effective communication. They can also navigate through (4)______ with
resilience and adaptability. Developing emotional intelligence involves self-awareness, self-
regulation, motivation, empathy, and social skills. Cultivating these skills can lead to improved
relationships and better (5)______ outcomes.

SubQuestion No : 84
Q.84 Select the most appropriate option to fill in blank number 4.
Ans 1. harness

2. routine

3. witness

4. challenges

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The concept of (1)______ intelligence has intrigued psychologists for decades. It refers to the
ability to understand and manage one’s emotions, as well as (2)______ the emotions of
others. Emotional intelligence plays a crucial role in personal and professional success.
Individuals with high emotional intelligence tend to excel in (3)______ situations, showing
empathy and effective communication. They can also navigate through (4)______ with
resilience and adaptability. Developing emotional intelligence involves self-awareness, self-
regulation, motivation, empathy, and social skills. Cultivating these skills can lead to improved
relationships and better (5)______ outcomes.

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank number 5.
Ans 1. academic

2. interpersonal

3. financial

4. self-centred

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The two children lost their way in the woods. They had heard tales about a witch residing in a
remote corner of _____[A] woods. The witch was notorious for eating children. They became
afraid as the sky _______[B] dark. They were getting hungry and tired as well. Soon after,
they came across _____[C] old cottage. The chimney of the house was emitting smoke. It
started to rain heavily, and they rushed inside the cottage without giving it a second thought.
To _______[D] surprise, they found a ______[E1], __________[E2], _______________[E3]
woman inside the house. She offered them chocolates to eat.

SubQuestion No : 86
Q.86 Fill in the blank marked [A] using the most appropriate option.
Ans 1. that

2. this

3. them

4. those
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The two children lost their way in the woods. They had heard tales about a witch residing in a
remote corner of _____[A] woods. The witch was notorious for eating children. They became
afraid as the sky _______[B] dark. They were getting hungry and tired as well. Soon after,
they came across _____[C] old cottage. The chimney of the house was emitting smoke. It
started to rain heavily, and they rushed inside the cottage without giving it a second thought.
To _______[D] surprise, they found a ______[E1], __________[E2], _______________[E3]
woman inside the house. She offered them chocolates to eat.

SubQuestion No : 87
Q.87 Fill in the blank marked [B] using the most appropriate option.
Ans 1. turned

2. have turned

3. were turning

4. does turn

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The two children lost their way in the woods. They had heard tales about a witch residing in a
remote corner of _____[A] woods. The witch was notorious for eating children. They became
afraid as the sky _______[B] dark. They were getting hungry and tired as well. Soon after,
they came across _____[C] old cottage. The chimney of the house was emitting smoke. It
started to rain heavily, and they rushed inside the cottage without giving it a second thought.
To _______[D] surprise, they found a ______[E1], __________[E2], _______________[E3]
woman inside the house. She offered them chocolates to eat.

SubQuestion No : 88
Q.88 Fill in the blank marked [C] using the most appropriate option.
Ans 1. no article

2. the

3. an

4. a

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The two children lost their way in the woods. They had heard tales about a witch residing in a
remote corner of _____[A] woods. The witch was notorious for eating children. They became
afraid as the sky _______[B] dark. They were getting hungry and tired as well. Soon after,
they came across _____[C] old cottage. The chimney of the house was emitting smoke. It
started to rain heavily, and they rushed inside the cottage without giving it a second thought.
To _______[D] surprise, they found a ______[E1], __________[E2], _______________[E3]
woman inside the house. She offered them chocolates to eat.

SubQuestion No : 89
Q.89 Fill in the blank marked [D] using the most appropriate option.
Ans 1. their

2. there

3. they’re

4. there are
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The two children lost their way in the woods. They had heard tales about a witch residing in a
remote corner of _____[A] woods. The witch was notorious for eating children. They became
afraid as the sky _______[B] dark. They were getting hungry and tired as well. Soon after,
they came across _____[C] old cottage. The chimney of the house was emitting smoke. It
started to rain heavily, and they rushed inside the cottage without giving it a second thought.
To _______[D] surprise, they found a ______[E1], __________[E2], _______________[E3]
woman inside the house. She offered them chocolates to eat.

SubQuestion No : 90
Q.90 Select the most appropriate option to sequentially fill in the blanks marked [E1], [E2],

[E3].
Ans 1. sweet, old, skinny

2. old, skinny, sweet

3. skinny, old, sweet

4. sweet, skinny, old

Comprehension:
Read the given passage carefully and answer the questions that follow.
Everything that departs from righteousness could be considered corrupt, taken in a broad
sense. However, we all possess traits like fear, egotism, greed, sloth, and wrath. We tend to
travel in the wrong direction when the proportion of negative qualities is noticeably higher
than the positive ones like honesty, purity, and serenity. The core cause of corruption is the
innate tendency to be affected by external factors. Since the beginning of time, it has existed.
However, sincerity and integrity are crucial in many aspects of life, including interpersonal
relationships, the workplace, commerce, government, and the legal system. The abuse of
authority for personal gain is corruption. We believe that the cost of food, access to clean
drinking water, economic possibilities, and housing amenities are fundamental needs for
every citizen. However, the government spends a lot of money on infrastructure initiatives like
constructing flyovers, modernising airports, and fostering economic growth.
Have you ever wondered why this is the case? Why can’t we address social ills like poverty
and illiteracy? It’s because we’ve grown accustomed to living with corruption as the standard.
The integrity of our own and other people’s behaviour bothers us the least. Therefore, there is
a loss of integrity on a monetary, intellectual, and moral level. Even after years of
independence, we still worry about societal bias, safety, and economic slowdowns. In today’s
world, bribery is used to obtain government contracts, licences, and patents, avoid paying
taxes, and other things. Low and mid-level authorities frequently abuse their authority to
provide necessary products and services. We typically take into account bribes in addition to
the agreed-upon price. However, high-level corruption in both the public and corporate
sectors leads to the manipulation of laws and regulations, which may have a negative impact
on the general public. The prevalence of widespread corruption in the system puts a country's
economy in jeopardy. Negative factors impeding our growth include the massive mountain of
non-performing assets, a lack of foreign investment, and schedule and cost overruns on
infrastructure projects. Additionally, our administrative processes are drenched in red tape
and require bribes at every turn. To begin any business activity, a lot of paperwork is required,
and hundreds of rules must be followed. It makes us unwelcoming and makes it challenging
for foreigners to invest here. Project delays and cancellations are also brought on by red tape.
The fundamental cause of social disparity is corruption. The poor are particularly hard hit. Not
everyone has the financial means to pay bribes. Additionally, although there are more
pipeline, dam, and refinery developments in our area, not everyone has access to basic
necessities like roads, schools, and hospitals. The stability of the nation may suffer from a
divided community. Criminals are produced as a result, and they pose a threat to the rule of
law. The entire population needs to be made aware of the problem, and those who wish to
fight corruption should come together. We should determine the overall amount of money lost
as a result of unethical behaviour and inform everyone of it. It is imperative that we monitor
the money raised by political parties. Politicians’ earnings and wealth should be made
available to the public. The Jan Lokpal bill revolutionised the war against corruption. However,
just like earlier measures, it was modified to suit unscrupulous individuals. The general
population has grown so accustomed to the wrongdoings that we now put up with unfair
treatment and corrupt behaviour. Businesses and long-term thinkers dislike conflict with
bureaucracy.

SubQuestion No : 91
Q.91 Why can’t we address social evils like poverty and illiteracy?
Ans 1. Because of unethical behaviour and divided community

2. Because of high integrity on monetary and moral level

3. Because of the massive mountain of non-performing assets

4. Because we have been conditioned to accept corruption as the norm

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:
Read the given passage carefully and answer the questions that follow.
Everything that departs from righteousness could be considered corrupt, taken in a broad
sense. However, we all possess traits like fear, egotism, greed, sloth, and wrath. We tend to
travel in the wrong direction when the proportion of negative qualities is noticeably higher
than the positive ones like honesty, purity, and serenity. The core cause of corruption is the
innate tendency to be affected by external factors. Since the beginning of time, it has existed.
However, sincerity and integrity are crucial in many aspects of life, including interpersonal
relationships, the workplace, commerce, government, and the legal system. The abuse of
authority for personal gain is corruption. We believe that the cost of food, access to clean
drinking water, economic possibilities, and housing amenities are fundamental needs for
every citizen. However, the government spends a lot of money on infrastructure initiatives like
constructing flyovers, modernising airports, and fostering economic growth.
Have you ever wondered why this is the case? Why can’t we address social ills like poverty
and illiteracy? It’s because we’ve grown accustomed to living with corruption as the standard.
The integrity of our own and other people’s behaviour bothers us the least. Therefore, there is
a loss of integrity on a monetary, intellectual, and moral level. Even after years of
independence, we still worry about societal bias, safety, and economic slowdowns. In today’s
world, bribery is used to obtain government contracts, licences, and patents, avoid paying
taxes, and other things. Low and mid-level authorities frequently abuse their authority to
provide necessary products and services. We typically take into account bribes in addition to
the agreed-upon price. However, high-level corruption in both the public and corporate
sectors leads to the manipulation of laws and regulations, which may have a negative impact
on the general public. The prevalence of widespread corruption in the system puts a country's
economy in jeopardy. Negative factors impeding our growth include the massive mountain of
non-performing assets, a lack of foreign investment, and schedule and cost overruns on
infrastructure projects. Additionally, our administrative processes are drenched in red tape
and require bribes at every turn. To begin any business activity, a lot of paperwork is required,
and hundreds of rules must be followed. It makes us unwelcoming and makes it challenging
for foreigners to invest here. Project delays and cancellations are also brought on by red tape.
The fundamental cause of social disparity is corruption. The poor are particularly hard hit. Not
everyone has the financial means to pay bribes. Additionally, although there are more
pipeline, dam, and refinery developments in our area, not everyone has access to basic
necessities like roads, schools, and hospitals. The stability of the nation may suffer from a
divided community. Criminals are produced as a result, and they pose a threat to the rule of
law. The entire population needs to be made aware of the problem, and those who wish to
fight corruption should come together. We should determine the overall amount of money lost
as a result of unethical behaviour and inform everyone of it. It is imperative that we monitor
the money raised by political parties. Politicians’ earnings and wealth should be made
available to the public. The Jan Lokpal bill revolutionised the war against corruption. However,
just like earlier measures, it was modified to suit unscrupulous individuals. The general
population has grown so accustomed to the wrongdoings that we now put up with unfair
treatment and corrupt behaviour. Businesses and long-term thinkers dislike conflict with
bureaucracy.

SubQuestion No : 92
Q.92 Select the most appropriate meaning of the given word in the context of the passage.

Unscrupulous
Ans 1. Overtly

2. Ethical

3. Principled

4. Dishonest
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Comprehension:
Read the given passage carefully and answer the questions that follow.
Everything that departs from righteousness could be considered corrupt, taken in a broad
sense. However, we all possess traits like fear, egotism, greed, sloth, and wrath. We tend to
travel in the wrong direction when the proportion of negative qualities is noticeably higher
than the positive ones like honesty, purity, and serenity. The core cause of corruption is the
innate tendency to be affected by external factors. Since the beginning of time, it has existed.
However, sincerity and integrity are crucial in many aspects of life, including interpersonal
relationships, the workplace, commerce, government, and the legal system. The abuse of
authority for personal gain is corruption. We believe that the cost of food, access to clean
drinking water, economic possibilities, and housing amenities are fundamental needs for
every citizen. However, the government spends a lot of money on infrastructure initiatives like
constructing flyovers, modernising airports, and fostering economic growth.
Have you ever wondered why this is the case? Why can’t we address social ills like poverty
and illiteracy? It’s because we’ve grown accustomed to living with corruption as the standard.
The integrity of our own and other people’s behaviour bothers us the least. Therefore, there is
a loss of integrity on a monetary, intellectual, and moral level. Even after years of
independence, we still worry about societal bias, safety, and economic slowdowns. In today’s
world, bribery is used to obtain government contracts, licences, and patents, avoid paying
taxes, and other things. Low and mid-level authorities frequently abuse their authority to
provide necessary products and services. We typically take into account bribes in addition to
the agreed-upon price. However, high-level corruption in both the public and corporate
sectors leads to the manipulation of laws and regulations, which may have a negative impact
on the general public. The prevalence of widespread corruption in the system puts a country's
economy in jeopardy. Negative factors impeding our growth include the massive mountain of
non-performing assets, a lack of foreign investment, and schedule and cost overruns on
infrastructure projects. Additionally, our administrative processes are drenched in red tape
and require bribes at every turn. To begin any business activity, a lot of paperwork is required,
and hundreds of rules must be followed. It makes us unwelcoming and makes it challenging
for foreigners to invest here. Project delays and cancellations are also brought on by red tape.
The fundamental cause of social disparity is corruption. The poor are particularly hard hit. Not
everyone has the financial means to pay bribes. Additionally, although there are more
pipeline, dam, and refinery developments in our area, not everyone has access to basic
necessities like roads, schools, and hospitals. The stability of the nation may suffer from a
divided community. Criminals are produced as a result, and they pose a threat to the rule of
law. The entire population needs to be made aware of the problem, and those who wish to
fight corruption should come together. We should determine the overall amount of money lost
as a result of unethical behaviour and inform everyone of it. It is imperative that we monitor
the money raised by political parties. Politicians’ earnings and wealth should be made
available to the public. The Jan Lokpal bill revolutionised the war against corruption. However,
just like earlier measures, it was modified to suit unscrupulous individuals. The general
population has grown so accustomed to the wrongdoings that we now put up with unfair
treatment and corrupt behaviour. Businesses and long-term thinkers dislike conflict with
bureaucracy.

SubQuestion No : 93
Q.93 Identify the tone of the passage.
Ans 1. Worried

2. Optimistic

3. Curious

4. Friendly
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Comprehension:
Read the given passage carefully and answer the questions that follow.
Everything that departs from righteousness could be considered corrupt, taken in a broad
sense. However, we all possess traits like fear, egotism, greed, sloth, and wrath. We tend to
travel in the wrong direction when the proportion of negative qualities is noticeably higher
than the positive ones like honesty, purity, and serenity. The core cause of corruption is the
innate tendency to be affected by external factors. Since the beginning of time, it has existed.
However, sincerity and integrity are crucial in many aspects of life, including interpersonal
relationships, the workplace, commerce, government, and the legal system. The abuse of
authority for personal gain is corruption. We believe that the cost of food, access to clean
drinking water, economic possibilities, and housing amenities are fundamental needs for
every citizen. However, the government spends a lot of money on infrastructure initiatives like
constructing flyovers, modernising airports, and fostering economic growth.
Have you ever wondered why this is the case? Why can’t we address social ills like poverty
and illiteracy? It’s because we’ve grown accustomed to living with corruption as the standard.
The integrity of our own and other people’s behaviour bothers us the least. Therefore, there is
a loss of integrity on a monetary, intellectual, and moral level. Even after years of
independence, we still worry about societal bias, safety, and economic slowdowns. In today’s
world, bribery is used to obtain government contracts, licences, and patents, avoid paying
taxes, and other things. Low and mid-level authorities frequently abuse their authority to
provide necessary products and services. We typically take into account bribes in addition to
the agreed-upon price. However, high-level corruption in both the public and corporate
sectors leads to the manipulation of laws and regulations, which may have a negative impact
on the general public. The prevalence of widespread corruption in the system puts a country's
economy in jeopardy. Negative factors impeding our growth include the massive mountain of
non-performing assets, a lack of foreign investment, and schedule and cost overruns on
infrastructure projects. Additionally, our administrative processes are drenched in red tape
and require bribes at every turn. To begin any business activity, a lot of paperwork is required,
and hundreds of rules must be followed. It makes us unwelcoming and makes it challenging
for foreigners to invest here. Project delays and cancellations are also brought on by red tape.
The fundamental cause of social disparity is corruption. The poor are particularly hard hit. Not
everyone has the financial means to pay bribes. Additionally, although there are more
pipeline, dam, and refinery developments in our area, not everyone has access to basic
necessities like roads, schools, and hospitals. The stability of the nation may suffer from a
divided community. Criminals are produced as a result, and they pose a threat to the rule of
law. The entire population needs to be made aware of the problem, and those who wish to
fight corruption should come together. We should determine the overall amount of money lost
as a result of unethical behaviour and inform everyone of it. It is imperative that we monitor
the money raised by political parties. Politicians’ earnings and wealth should be made
available to the public. The Jan Lokpal bill revolutionised the war against corruption. However,
just like earlier measures, it was modified to suit unscrupulous individuals. The general
population has grown so accustomed to the wrongdoings that we now put up with unfair
treatment and corrupt behaviour. Businesses and long-term thinkers dislike conflict with
bureaucracy.

SubQuestion No : 94
Q.94 Select the most appropriate summary of the passage.
Ans 1. Politicians’ earnings and wealth should be made available to the public through

revolutions like Jan Lokpal Bill which will enhance the transparency

2. The instances of social disparity among individuals in Indian society are existing
because of corruption and other financial irregularities, which are legal.

3. It is true to say that high-level corruption in both the public and corporate sectors
leads to the integration of laws and regulations.

4. The entire population should be made aware of the problem of corruption and join
hands together to fight against corruption.
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Comprehension:
Read the given passage carefully and answer the questions that follow.
Everything that departs from righteousness could be considered corrupt, taken in a broad
sense. However, we all possess traits like fear, egotism, greed, sloth, and wrath. We tend to
travel in the wrong direction when the proportion of negative qualities is noticeably higher
than the positive ones like honesty, purity, and serenity. The core cause of corruption is the
innate tendency to be affected by external factors. Since the beginning of time, it has existed.
However, sincerity and integrity are crucial in many aspects of life, including interpersonal
relationships, the workplace, commerce, government, and the legal system. The abuse of
authority for personal gain is corruption. We believe that the cost of food, access to clean
drinking water, economic possibilities, and housing amenities are fundamental needs for
every citizen. However, the government spends a lot of money on infrastructure initiatives like
constructing flyovers, modernising airports, and fostering economic growth.
Have you ever wondered why this is the case? Why can’t we address social ills like poverty
and illiteracy? It’s because we’ve grown accustomed to living with corruption as the standard.
The integrity of our own and other people’s behaviour bothers us the least. Therefore, there is
a loss of integrity on a monetary, intellectual, and moral level. Even after years of
independence, we still worry about societal bias, safety, and economic slowdowns. In today’s
world, bribery is used to obtain government contracts, licences, and patents, avoid paying
taxes, and other things. Low and mid-level authorities frequently abuse their authority to
provide necessary products and services. We typically take into account bribes in addition to
the agreed-upon price. However, high-level corruption in both the public and corporate
sectors leads to the manipulation of laws and regulations, which may have a negative impact
on the general public. The prevalence of widespread corruption in the system puts a country's
economy in jeopardy. Negative factors impeding our growth include the massive mountain of
non-performing assets, a lack of foreign investment, and schedule and cost overruns on
infrastructure projects. Additionally, our administrative processes are drenched in red tape
and require bribes at every turn. To begin any business activity, a lot of paperwork is required,
and hundreds of rules must be followed. It makes us unwelcoming and makes it challenging
for foreigners to invest here. Project delays and cancellations are also brought on by red tape.
The fundamental cause of social disparity is corruption. The poor are particularly hard hit. Not
everyone has the financial means to pay bribes. Additionally, although there are more
pipeline, dam, and refinery developments in our area, not everyone has access to basic
necessities like roads, schools, and hospitals. The stability of the nation may suffer from a
divided community. Criminals are produced as a result, and they pose a threat to the rule of
law. The entire population needs to be made aware of the problem, and those who wish to
fight corruption should come together. We should determine the overall amount of money lost
as a result of unethical behaviour and inform everyone of it. It is imperative that we monitor
the money raised by political parties. Politicians’ earnings and wealth should be made
available to the public. The Jan Lokpal bill revolutionised the war against corruption. However,
just like earlier measures, it was modified to suit unscrupulous individuals. The general
population has grown so accustomed to the wrongdoings that we now put up with unfair
treatment and corrupt behaviour. Businesses and long-term thinkers dislike conflict with
bureaucracy.

SubQuestion No : 95
Q.95 Which of the following factors is negatively impeding our growth?
Ans 1. Abundance of foreign investment

2. The collection of performing assets

3. Schedule and cost cutting on infrastructure projects

4. Administrative processes drenched in red tape
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Comprehension:
Read the given passage carefully and answer the questions that follow.

As a graduate student, it is important for them to remember that the skills and knowledge they
gain during their studies will be valuable not only in their chosen field, but also in their future
career. In addition to mastering the subject matter of their program, they should also strive to
develop critical thinking, problem-solving, and communication skills. These abilities are highly
valued by employers and will serve them well in any career path they choose.
Furthermore, as a graduate student, they will have the opportunity to conduct research and
make original contributions to their field. This experience will not only help them gain a deeper
understanding of the subject matter, but will also give them the opportunity to publish their
findings and build their professional network.
Additionally, it is important for them to take advantage of any opportunities to gain practical
experience in their field. This can include internships, co-op programs, or volunteer work.
These experiences will not only help them to develop valuable skills, but they will also help
them to gain a better understanding of the real-world applications of their field, and they can
also help them to make important connections in the industry.
Finally, it is important for them to remember that graduate school is a challenging and
demanding experience, but it is also an incredibly rewarding one. With hard work, dedication,
and a positive attitude, they will be well on their way to achieving their goals and making a
meaningful impact in their field.

SubQuestion No : 96
Q.96 Which of the following is NOT an important aspect of a graduate student’s experience

to achieve academic and professional success?
Ans 1. Forming support groups from different ethnic groups to stay connected

2. Building a professional network

3. Gaining practical experience through internships, co-op programs or volunteer work

4. Conducting research and making original contributions to their field

Comprehension:
Read the given passage carefully and answer the questions that follow.

As a graduate student, it is important for them to remember that the skills and knowledge they
gain during their studies will be valuable not only in their chosen field, but also in their future
career. In addition to mastering the subject matter of their program, they should also strive to
develop critical thinking, problem-solving, and communication skills. These abilities are highly
valued by employers and will serve them well in any career path they choose.
Furthermore, as a graduate student, they will have the opportunity to conduct research and
make original contributions to their field. This experience will not only help them gain a deeper
understanding of the subject matter, but will also give them the opportunity to publish their
findings and build their professional network.
Additionally, it is important for them to take advantage of any opportunities to gain practical
experience in their field. This can include internships, co-op programs, or volunteer work.
These experiences will not only help them to develop valuable skills, but they will also help
them to gain a better understanding of the real-world applications of their field, and they can
also help them to make important connections in the industry.
Finally, it is important for them to remember that graduate school is a challenging and
demanding experience, but it is also an incredibly rewarding one. With hard work, dedication,
and a positive attitude, they will be well on their way to achieving their goals and making a
meaningful impact in their field.

SubQuestion No : 97
Q.97 Identify the main theme of the passage.
Ans 1. The ways in which graduate school can be utilised to create political opportunities

2. Methods to include experiential learning in graduate school to inculcate discipline 

3. The importance of experience-based knowledge to increase the learning potential of
graduate students 

4. The importance of developing various skills and gaining practical experience as a
graduate student in order to achieve academic and professional success 
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Comprehension:
Read the given passage carefully and answer the questions that follow.

As a graduate student, it is important for them to remember that the skills and knowledge they
gain during their studies will be valuable not only in their chosen field, but also in their future
career. In addition to mastering the subject matter of their program, they should also strive to
develop critical thinking, problem-solving, and communication skills. These abilities are highly
valued by employers and will serve them well in any career path they choose.
Furthermore, as a graduate student, they will have the opportunity to conduct research and
make original contributions to their field. This experience will not only help them gain a deeper
understanding of the subject matter, but will also give them the opportunity to publish their
findings and build their professional network.
Additionally, it is important for them to take advantage of any opportunities to gain practical
experience in their field. This can include internships, co-op programs, or volunteer work.
These experiences will not only help them to develop valuable skills, but they will also help
them to gain a better understanding of the real-world applications of their field, and they can
also help them to make important connections in the industry.
Finally, it is important for them to remember that graduate school is a challenging and
demanding experience, but it is also an incredibly rewarding one. With hard work, dedication,
and a positive attitude, they will be well on their way to achieving their goals and making a
meaningful impact in their field.

SubQuestion No : 98
Q.98 Select the most appropriate title for the passage.
Ans 1. Skills and Experience: The Key to Success as a Graduate Student

2. The Importance of Positive Attitude during Graduate Days

3. Career Advancement Schemes for Graduate Students

4. The Role of Research in Graduate School

Comprehension:
Read the given passage carefully and answer the questions that follow.

As a graduate student, it is important for them to remember that the skills and knowledge they
gain during their studies will be valuable not only in their chosen field, but also in their future
career. In addition to mastering the subject matter of their program, they should also strive to
develop critical thinking, problem-solving, and communication skills. These abilities are highly
valued by employers and will serve them well in any career path they choose.
Furthermore, as a graduate student, they will have the opportunity to conduct research and
make original contributions to their field. This experience will not only help them gain a deeper
understanding of the subject matter, but will also give them the opportunity to publish their
findings and build their professional network.
Additionally, it is important for them to take advantage of any opportunities to gain practical
experience in their field. This can include internships, co-op programs, or volunteer work.
These experiences will not only help them to develop valuable skills, but they will also help
them to gain a better understanding of the real-world applications of their field, and they can
also help them to make important connections in the industry.
Finally, it is important for them to remember that graduate school is a challenging and
demanding experience, but it is also an incredibly rewarding one. With hard work, dedication,
and a positive attitude, they will be well on their way to achieving their goals and making a
meaningful impact in their field.

SubQuestion No : 99
Q.99 Select the most appropriate ANTONYM of the given word.

Rewarding
Ans 1. inspiring

2. comforting

3. discouraging

4. stimulating
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Comprehension:
Read the given passage carefully and answer the questions that follow.

As a graduate student, it is important for them to remember that the skills and knowledge they
gain during their studies will be valuable not only in their chosen field, but also in their future
career. In addition to mastering the subject matter of their program, they should also strive to
develop critical thinking, problem-solving, and communication skills. These abilities are highly
valued by employers and will serve them well in any career path they choose.
Furthermore, as a graduate student, they will have the opportunity to conduct research and
make original contributions to their field. This experience will not only help them gain a deeper
understanding of the subject matter, but will also give them the opportunity to publish their
findings and build their professional network.
Additionally, it is important for them to take advantage of any opportunities to gain practical
experience in their field. This can include internships, co-op programs, or volunteer work.
These experiences will not only help them to develop valuable skills, but they will also help
them to gain a better understanding of the real-world applications of their field, and they can
also help them to make important connections in the industry.
Finally, it is important for them to remember that graduate school is a challenging and
demanding experience, but it is also an incredibly rewarding one. With hard work, dedication,
and a positive attitude, they will be well on their way to achieving their goals and making a
meaningful impact in their field.

SubQuestion No : 100
Q.100 Which of the following is NOT important for a graduate student to achieve academic

and professional success?
Ans 1. Mastering the subject matter of their program

2. Having a corporate job

3. Having a positive attitude

4. Developing critical thinking, problem-solving, and communication skills
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